Negative Zahlen Variante 2 Klasse: Datum:

Addition bis 100 Blatt 100 Name:

@ a) (+64) + (-22) = b) (-89) + (+100) =
c) (-40) + (-33) = d) (+33) + (-97) =
e) ( _ 84) + ( +82) =1 f) ( - 46) + ( - 53) =

@ a) (+80) + (-77) = b) (-52) + (+63) =
© (-30) + (-25 = D (457) + (c95) =
e) (-85) + (+30) = ) (-39) + (-45 =

@ a) ( +84) + ( = 80) = b) ( - 72) + ( +72) = ..
C) (_75) + (_22) = d) (+41) + (-51) =
e) (-56) + (+54) = ) (-23) + (-70) =

@ a (+81) + (-64) = o) (L28) + (vo7) =
C) (-48) + (-41) = d) (+38) + (-88) =
® (-02) + (+49) = D (32 + (-5 =

O (+61) + (-47) = Vs v - -
0) + (-36) = -90 D (+58) + (-58) =
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Negative Zahlen Variante 2

Addition bis 100 Blatt 100

O @ ey s = a2 P (-89) + (+100) = 11
c) (-40) + (-33) = -73 d) (+33) + (-97) = 64
e) ( _ 84) + ( +82) = -2 f) ( - 46) + ( - 53) = 299

@ a) (+80) + (-77) = 3 b) (-52) + (+63) = 11~
) (-30) + (-25) = 55 D (+57) + (-95) = 38
e) (-85) + (+30) = 55 ) (-39) + (-45) = -84

@ a) (+84) + (-80) = 4 b) (-72) + (+72) = 0O
C) (_75) + (_22) = -97 d) (+41) + (-51) = -iu
e) (-56) + (+54) = -2 ) (-23) + (-70) = -93

@ a (+81) + (-64) = 17 O) (_28) + (+07) = 60
C) (-48) + (-41) = -89 d) (+38) + (-88) = 50
e) (-92) + (+49) = -43 L (-32) + (-55) = -87

O (+61) + (-47) = 4 ® (0 + (se7) - -
© (-54) + (-36) = -90 DV o(vs8) + (-58) = 0
® (-80) + = -36 L * G - -l
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